Inequalities Test
Name _____________________________
	1.
	You must be at least 48 inches tall to ride Goliath at Magic Mountain.  Select all heights that would be allowed.

[A] 52 inches
[B] 46 inches
[C] 51 inches
[D] 48 ½ inches

[E] 48 inches
[F] 47 inches
[G] 58 inches
[H] 47 ½ inches

	2.
	The Batman ride has a minimum height requirement of 52 inches.  Please give 3 heights that will be allowed on the ride, and 3 heights that will not be allowed on the ride.

	
	      3 Acceptable heights
	
	
	

	
	      3 Unacceptable heights 
	
	
	

	3.
	𝑥 ≥Circle the letter of all appropriate scenarios that match the inequality x ≥ 6.

[A] There must be at least 6 players to form a complete volleyball team.

[B] There can be no more than 6 eggs in a half carton.

[C] Only 6 players can be on a volleyball court at a time.

[D] There must be 6 or more.

	4. 
	Provide a scenario that is being described by this graph of an inequality.
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	Write your scenario here….



	5. 
	Please match the correct inequality to each scenario by draw a line.  Not all inequalities must be used. 

	
	𝑥≤12xx ≤ 12

𝑥≥12x ≥ 12
𝑥<12x < 12
𝑥>12x > 12
	
	There are at least 12 people in Ms. Kim’s Period 2 class.

There can be no more than 12 people in Arts and Crafts Club.

There are fewer than 12 teachers at Charter School 6.

There are at most 12 kinds of sodas in the vending machine.

The maximum number of errors allowed is 12.

	6.
	No more than 18 people may ride the roller coaster at a time.

	
	Please write an inequality that appropriate describes the scenario.



	7. 
	Please graph the following inequality:  𝑥x > –1
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	8. 
	Please write an algebraic inequality that is being described in this graph.
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	9. 
	Which of the options below are equivalent to the inequality x ≥ 3?  Show all work and circle the letter.

	
	A) 33𝑥≥93x12x ≥ 9

	B) 3≤2𝑥+3asd3 ≤ 23𝑥≥93x12x + 3



	
	C) 2(3𝑥≥93x12x + 1) ≥ 10


	D) 𝑥>33𝑥≥93x12x > 3

	
	E) 3𝑥−1≥1033𝑥≥93x12x – 1 ≥ 10


	F) 4𝑥−1≥111043𝑥≥93x12x – 1 ≥ 11

	10. 
	Select all of the following values that are a part of the solution set for the inequality  3(x + 1) – 4 ≤ 2.

[A] 2
[B] 1
[C] 0
[D] –1
[E] –2
[F] –3


